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1 =
(1) ERBEE
(2{K] [3 5@KiH] [35~595%] [6 ORELLE]
A% (M) | HEA%x | A% (M) A% (M) | HER%x | A% (M) A% (M) | HEBA%x | A% (M) A% (M) | HEB%x | B%E (M)
A B (A xB) A B (A XB) A B (AxB) A B (A X B)
&=/IMiE 3, 346 17.4 98, 220 =/ME 3, 346 17.4 58, 220 =/IMiE 13, 266 17.4 230, 828 =/IMiE 3, 346 17.4 58, 220
> PN ] 35,000 17.4 609, 000 =AIE 24,175 17.4 420, 645 =AE 35, 000 17.4 609, 000 =AE 18, 791 17.4 326, 963
EiE 19, 362 17.4 336, 892 EHIE 14, 690 17.4 255, 610 EHE 21,314 17.4 370, 858 TiE 11,970 17.4 208, 273
hdE 18, 000 17.4 313, 200 R {E 15, 7141 17.4 273, 885 R {E 19, 000 17.4 330, 600 hd{iE 11, 837 17.4 205, 964
=IR(E — 17.4 — =HEfE — 17.4 — =IEE — 17.4 — E4EE — 17.4 _
BAH 15 BARY 8 BAH 13 BAH 7
*HEBEHIE. BHER BAHFHIHAE (SM3FE10AH) OHF1RIZLS,
(2 BE»@E
[(£1K] [3 5mFkid] [35~59R] [6 OmLLL]
A% (M) | HEIB%x | B%E (M) B4 (M) | HEB8%=* | A% (M) B% (M) | £#B%* | B%E (M) B%E (M) | £EB8%=* | A% (A)
A B (AxB) A B (AxB) A B (AXxB) A B (AXB)
&/ME 2, 868 17.4 50, 477 =/IMiE 10, 400 17.4 180, 960 =/IME 10, 400 17.4 180, 960 =/IME 2, 868 17.4 49,903
> YN [ 12,000 17.4 208, 800 =AE 10, 400 17.4 180, 960 mAE 12,000 17.4 208, 800 =AE 7,105 17.4 123, 627
S8 SE] 8,093 17.4 140, 823 EHE 10, 400 17.4 180, 960 EHE 11,200 17.4 194, 880 TiE 4,987 17.4 86, 765
QB 8, 753 17.4 152,294 R {E 10, 400 17.4 180, 960 R {E 11,200 17.4 194, 880 th R fiE 4,987 17.4 86, 765
=A4E1E — 17.4 — =4EfE — 17.4 — &4E{E — 17.4 — 4B — 17.4 —
BARH 4 BARH 1 BARH 2 BARH 2
* HENAHIE, JHERE EBAHFHHAT (SMI3FE10AD) OFE1RITLD,
2 RIEEE
(1) ERAFEE
(£{K] [3 5@KiE] [35~595] [6 OmLIE]
A% (M) | £#B8%* | B%E (M) H%E (M) | HEB%=* | A% (M) A% (M) | £#B%* | B%E (M) A% (M) | HEIR%x | B%E (M)
A B (A X B) A B (A xB) A B (AxB) A B (A xB)
w&/ME 3, 346 17.4 58, 890 =/ME 3, 346 17.4 58, 220 =/ME 10, 592 17.4 184, 301 =/ME 3, 346 17.4 58, 220
> PN ] 21,000 17.4 365, 400 =mAE 17,000 17.4 295, 800 mAE 21,000 17.4 365, 400 =AE 18, 791 17.4 326, 963
S5 SE] 13, 709 17.4 238, 535 EHE 12, 664 17.4 220, 351 EHE 15,920 17.4 271,005 TiE 11, 654 17.4 202, 787
h i 13,619 17.4 236, 971 R {E 14,130 17.4 245, 862 R fE 16, 000 17.4 2178, 400 h i 10, 426 17.4 181,412
=AE{E — 17.4 — RIR(E — 17.4 — =HE(E — 17.4 — RIR(E — 17.4 —
AR 15 SR 8 FAE 13 BA 7
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BAHFMAAHAE (FHMIFE10R7) DE1RICKD,




2) BEFH@BE

[£1K] [ 3 5 K] [35~595%]) [6 OmLAL]
H%8 (M) | HEIB%=* | A% (F) B% (M) | HEIB%= | A% (M) H%8 (M) | HEIB%* | A% (H) H%E (M) | HEBE%x | A% (F)
A B (AXB) A B (AXxXB) A B (AXB) A B (AXxXB)
&/IME 2,868 17.4 50, 477 S/ME | 10,400 17.4 180, 960 S/ME | 10,400 17.4 180, 960 &/IME 2,868 17.4 49,903
BXfE | 12,000 17.4 208, 800 BXfE | 10,400 17.4 180, 960 SXME | 12,000 17.4 208, 800 RAfE 7,105 17.4 123, 627
FiiE 8,093 17.4 140, 823 FEfE | 10,400 17.4 180, 960 EfE | 11,200 17.4 194, 880 F i1 4,987 17.4 86, 765
th R 8,753 17.4 152, 294 hgfE | 10,400 17.4 180, 960 hgfE | 11,200 17.4 194, 880 h R {E 4,987 17.4 86, 765
=IR(E — 17.4 — =HEfE — 17.4 — =HEE — 17.4 — =AEfE — 17.4 —
BARH 4 BARE 1 BAH 2 BAH 2
* H AT, BEE BAHFHHAZ (FMI3E1089) DEI1RIZLD,
3 Fiy%E
(1) ERABEE
[(£1K] [3 5mkin] [35~595%]) [6 OmLAL]
HZ (M) | HE A% | A%E (M) HZ (M) | HEBA%* | A%E (M) H% (M) | HE A%+ | H%E (M) HZ (M) | HE A% | A%E (M)
A B (AXxXB) A B (AXB) A B (A xXB) A B (AxXB)
&/ME 3, 346 17.4 58, 890 &/IME 3, 346 17.4 58, 220 S/ME | 11,975 17.4 208, 365 &/IME 3, 346 17.4 58, 220
BKfE | 27,500 17.4 478, 500 BKfE | 20 712 17.4 360, 389 SXfE | 27,500 17.4 478, 500 SXfE | 18,791 17.4 326, 963
FEigfiE | 15,946 17.4 277, 466 FEigfE | 13,824 17.4 240, 542 FEygfE | 18,404 17.4 320, 224 FigfE | 11,812 17.4 205, 529
hgfE | 16,017 17.4 278, 701 gl | 14,483 17.4 252, 004 hgfE | 17,500 17.4 304, 500 hofE | 11,131 17.4 193, 679
=AEfE — 17.4 — =AEfE — 17.4 — =HEfE — 17.4 — =AEfE — 17.4 —
BARE 15 BARE 8 BARE 13 BAR# 7
* HEIB#E, FEE BRAUFHAET (FSM3FE10A%) DFEI1RICKD,
2 BEF@E
(£1K] [3 5mFi] [35~595]) [6 OmLAL]
H% (M) | HEBA%x | A%E (H) H% (M) | HEBA%x | A% (H) H% (M) | HEB%x | A%E (M) HE (M) | HEIH%* | A& (F)
A B (AXB) A B (AxXB) A B (AXB) A B (AxXB)
5/ME 2,868 17.4 50, 477 S/ME | 10,400 17.4 180, 960 S/ME | 10,400 17.4 180, 960 &/ME 2,868 17.4 49, 903
BKfE | 12,000 17.4 208, 800 RAfE | 10,400 17.4 180, 960 RAfE | 12,000 17.4 208, 800 RAfE 7,105 17.4 123, 627
F i 8,093 17.4 140, 823 FEigfE | 10,400 17.4 180, 960 FEigfE | 11,200 17.4 194, 880 F i1l 4,987 17.4 86, 765
R {E 8,753 17.4 152, 294 hgfE | 10,400 17.4 180, 960 hgfE | 11,200 17.4 194, 880 th R {E 4,987 17.4 86, 765
IR — 17.4 — =AEfE — 17.4 — =AEE — 17.4 — =AEfE — 17.4 —
SR 4 SR 1 EARH 2 BEAR# 2
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BAHFHMANAE (FHIFE10AD) OFE1RICELD,




